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1) g, = % [ —sinacos (o +248)]
D z=0md T,
o, =0(t/m")
@ z=1m¥d T,
g=10¢/m*
tanla+3) =4, tang=2

arctan (d) = o+ 4 =1.325818
aIctan (2)=8=1.107140
= 0.2 18649

o] 2HEE Y =1mY W, g,-122032 (¢/m?)

2 o= =Y ket g == A ts ®a 2k
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20 | 1342 \
25 | 1.196 1
30 | 1.021 2 w
35 | 0.853 /
10 | 0.708 3
z (rn) /
45 | 0583
50| 0.481 4 //
55 | 0.400 5
6.0 | 0.333 /-/
85 | 0.280 & /
7.0 | 023 ;

75 | 0201 /
80 | 0.172 3

85 | 0.148 f]
9.0 | 0.128 9 {
95 | 0111 10 L&
100 0.097
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D2 B vl YT 019 dstEol E EMshs Ao sRdstn SAKE o
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B, z?g [ex—sineaoos (e+25)]

o] 235 B & JfiE= ehER olefst gk



a, (#m®)

{m)

0.0 0,000
0.5 1482
1.0 2441
b | 2f v
20| 288%
b | 2393
30| 204z
35 1706
4.0 1412
4.5 1.165%
B0 | 089863
BE | 0799
g.0 | 0867
g5 | 0559
T0 | 0473
Th | 0402
g0 0344
gh | 0296
.0 | 0256
b | 0223
100] 0,19%
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